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(2)
v1 = 1pip1 + 7e(1 + B)ivs + Re(1+ 8)(in1 + in2), (1)
v = Tpipe + 1o (1 + B)ipe + Re (1l + 8)(iv1 + iv2), (2)
vz = —Rc B, (3)
vy = —RcBiva. (4)
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Ryep x 2mA + 0.6 = 3.3 — (=3.3). 0000 Ryer = 3 k.
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Solution:
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Solution:
() DoOooUooUoooOoooPAOOUOLUOUODUODOLDOOUDOUODODODOOOOPATDOD
Joo0o0oO0ooObooObOoOo0o0oo0oboobOoboOoooooobooooo
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(100) U 40 PLL (Phase-Locked Loop, 000 O00D0)000000000O000OOOO0O a,b,c,d,e
gdoboooouoboooouobon

goooo O0obOood goooo UFO VGA «
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vp(t) —— Ve (t) va(t) Vo(t)
b c d

PLLOOOOOOOOw ()0 v() 00000 [ e 0000

O 4: PLL (Phase-Locked Loop).

Solution: a: OO0O0O, b: 00000, ¢ LPF, d: VCO, e: 7/2
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